g p_/dndgC

Ratio to ATLAS

1.8

1.6

1.4

1.2

0.8

0.6

0.4

0.2

0.5

N

7000 GeV pp Underlying Event
L L L L L L L L L L L I
<
:p_> density wrtg of leading track(in| < 2.5,p > 05 GeV, p_>2 Gev)
— —=
—  m ATLAS —
—  --3-- Herwig 7.1.1 default an
— —4— Pythia 8.170 default —=
u o
— "o
— —=
H _x
- @
- _| ™M
¥
- 1
: 18
" 73
— >
- g b=
- .8,
B <=
— —1S
I <
— o
- mke
I 1w
N 8
o
— -1 O
e e L E
— =2
EESES ey 1,
L —0.5
| " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |

0 1 2 3
left|gright| (w.r.t. leading track) [rad]



	Contents
	Page 1


